[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

900 GeV p Underlying Event
I I I | I I I

| I I I | I I I | I I | 4(2
- —
1 Sum(p,) Density (TRNS) (| < 2.5, p,_ > 0.5 GeV) _|Z
L 1=
m ATLAS @
[ --3-- Herwig 7.0.1 default |
—a— Pythia 8.201 default 1=
08 — 4. Sherpa 2.1.1 default _03
B 2
- |
0.6 — ]

|
mcplots.cern.ch [arXiv:1306.3436]

N | | | | | | | | | | | | | | | | | | |
= I L LA 1 L LA I
2 F 42
L N _
R PO S SN SRR S L O S e B N
. B *-4--¢ gé-alﬂé;ﬂaéﬁ%x’g | .
- ’/ —
_E —]
05 — —0.5
L L | L L L | L L L | L L L | L L L |
2 4 6 8 10

P, (leading track) [GeV]



	Contents
	Page 1


